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Note - It is compulsory to atiempt (6 6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part I while Q.No.9 is
compulsory. Write same Question Number and its Part Number as given in the question paper.
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(Part 1) Uslo}

- . ;.._..L_.t..._._.__.___.:“ e ——
Define Scalar Matrix. ...g...i‘/ J JG’)-'; (i) 1/‘10’-*"!

36 = 2 x18 Make diagram where necessary. -;{'th{uﬂﬁdﬂfuiﬁ

= T

| Find the Product : [1 2][:] ZEe e AN i) '

Use Laws of Exponent to Simplify. { 2:(53«-“1 "~ Exiayz} -ﬁ/f’;:.ﬂfuf 19 L Ve d (ili)
A 2
 Simplify. (xS ]2 : x3 -ijﬂ (iv})

Write in the Single Logarithm Form. 2 logx - 3logy ..E:!{E;p J .(‘?:E':’yi: (V)
. - 2 o r U .
i Find the value of 'x' if : 1ﬂ5641 =73 : /i é}'ﬁ";,ﬂf x ' {vi)
| Simplify. V3 (2V3 + 3y3) A i

]. ™

If x =2-J3 ,then find% " 5 -ér:’”‘g‘jﬂx=2—+ﬁ )‘f{viii}
| b

Factorize, ig—2 + JZESE (%)

d ;
a +1 - 1 - 1 a +1 H 7

- If A=——= ,find A-—E -éf"l"ﬁ"‘g? A= —03 ﬁ i 3 -
:Sulve for " x ", 'Ex+5l=11 -‘i-l#:h"c.gdl 'x ' (ii)
. Define Linear Inequality in One Variable. _.é'-..éw/7 J ::hLﬁ:fﬁm.{ 9 /.i"} u_l:I (i
| S Le B g 2x-y+1 =0 U (-1,1) B S ZJ (iv)
" Verify whether the point (-1,1) lies on the line 2x-y+1 = 0 or not?
; Define Origin. —£4; J i (v)

- plelien £ S(-1,3),R(3,-2) 46 £Es (i)
Find the Distance between the given points §(-1,3),R(3,-2)

' Define Parallelogram. ..éq;‘/] J Like i €315 {vil)
What is meant by S.AA = S.AA? Tli'.-.l!/'&( - }.}..Lf = .L}-J' (viii)

:In the given figure ABCD is a %CMUFUJ'F-_?ABCDU:LF&GJ (ix)

D C
0 0 _
Parallelogram , then find the (5m +10) 11x _£ Jl’"'-.‘.'.u:J ‘m'u'x 'y
gr = (-
lue of 'x' ‘m". 557
value of 'x' and '‘m A B

Define Right Bisector of a Line Segment. ..i_g/j' d/ it L A (i) 4,,1"Ui.r‘[
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LU S b & as 5 5em s dem ¢ 3em SEIA (i)
Verify that 3cm, 4cm and 5cm are the lengths of the sides of a Triangle.

T -

Define Proportion. ..i-..gj/"‘ J & i)
State Pythagoras Theorem. _iwg OIFYY-2 =R PICIWRY | 1Y)

AU et /248 ¢ = 13em o b = 12em € a = Sem S 2 F 4 (v)
Verify that a = 5em, b= 12cm and ¢ = 13 em are sides of a Right Triangle.
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Define Altitude of a Triangle. -gi—t’/; S Lus £ ads (vi)
Find the Area. L 3 (vii)
10 cm
16 cm - )
o » & & -
( Define Circum Centre of Triangle. -Ea JOA f;’) Il £ als {viii)

myz = 7.6cm, mxy = 6.1cm , msx = 90° pﬂgfzs;‘:..b;xyz &L (ix)
Construct a Triangle xyz in which myz = 7.6cm, mXxy = 6.1cm , mex = 90°
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